‘|9N}ODJUOD UOU JuSWND0(Q / SOJIPIdUI juos saj|aIpd awaw suoyonpoidal sa7 ‘siapaid
SUDS SUOHDDIIPOW 3P SHOIP SNOJ SUOAISSDI SNOU snou ‘jinpoid 3] 12101|9WD,p jng 3| subg

LT T T CLCCCILO

104

2 -
o |5
V) L=
0% S /
- | ~
S99 LlE o
S | O MBS 0| |
2= =[2 -
o™
il
H - —
3 w." - —
i =
0
S 2
....... : N Lf st

g | -
1

Il

O
T
.- S of£ W
x + Vo &
s B owE g
€ @ Y <
o 0 4+ Qo
= T +—= W
o V3 5
= P 28 E
[ .m_.m Q
Q o M
o an
| |
3 Z'101
| - - —
/ — == — g— — —_
S — — — — s = —

JIEN

119

Echelle 1:20°™




